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1. What is the difference between simple 
interest and conmpound interest on 10,0O0 
for two years at 20% per annum compounded 
half-yearly ? 

(a) 

(b) 

(d) 

1 

2 

2. Consider the following statements in respect 

(a) 

of the polynomial a(b - c) (x - b) (x - c) + 

b(c � a) (x-c) (x- a) + cla � b) (x- a) (x�b): 

(b) 

842 

(c) 

756 

(d) 

641 

542 

Which of the statements given above isare 

correct? 

The coefficient of x is 0. 

The coefficient of x is (a � b) (b- c) (c - a). 
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S4) 

1 only 

2 only 

Both 1 and 2 

Neither l nor 2 

3 

4. 

5. 

(3-B) 

Consider the following statements in respect 

of the polynomial 1 -x- x" +x"+ where n is 

a natural number : 

1. 

2 

(a) 

Which of the statements given abovg is/are 

correct ? 

(b) 

(d) 

It is divisible by 1-2x + x. 

It is divisible by 1 - x" 

(a 

(b) 

(c) 

l only 

Both 1 and 2 

For what values of m, is mx+ mx + 8x + 9 

a perfect square ? 

2 only 

Neither l nor 2 

1,4 

4, 9 

9, 16 

\(G4, 16 

(a) a 

If x = a +b+ 

(b) b 

ab 
and y = 

a +b? 

then what is the value of (x - a)-(y - b² ? 

(c) ab 

A 

(a -b)² 

(d) ab? 

4a + 4b 

t|2n + (3) 

a +b 

4 



7. 

6. 

(c) 

(a) 

(d) 

(a) 

(c) 

(b) 

Consider the following : 
1 
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2 

If sin = 

4 

4 

Cos 

1 and 3 only 

121 

169 
9 

0- sin e= 

cOsec + cot0= 

Which of the above equations are identities ? 

1, 2 and 3 

196 

( (d)225 

1 and 2 only 

cos e- sin A- 1- tan² e 

and 3 only 

12 
13' 

2 tan 0 

1-tan20 

then 

(tan + sec 0) (cosec - cot 0), 0<0 < 

1 

COsec0 

1+ tan' 

cot 9 

12 

0 <0< 

0<0< 

2 

+ B1 

what is the value of 

2 

2 

2 

2 

9. 

10. 

(5-B) 

If tan0+ cot e= m. then what is the value 

(c) 

(a) 

(b) 

(c) 

of tan 0 + cot 0? 

(d) 

(a) 

(d) 

(b) 

(a) 1 

br 2 

0s< ? 

1 

What is the minimum value of 6�4 sin 6, 

2 

4 

3 

Jym +2 + 2 

WWm 

6 

What is the value of x that satisfies 4 cos 30° + 2x sin 30° - cot 30° 

+4 + 2 

Wm +2 +2+2 

JWm +4 +2+2 

2 

1 
16 

+ 2 

6 tan l5° tan 75° = 0? 

3 

+2 t 



1i, Let a, b, e and d be four positive 

12. 

13. 

integers If S =(-1y +-1) +-1 +(-1)", 
that 

is the number of possible values of S? 
then what 

(a) 

(b) 

(d) 

(a) 

(b) 

1 

(c) 

(d) 

2 

The number 970 -140 is divisible by : 

(a) 

One 

(b) 

Two 

(c) 

Three 

Four 

such 

37 but not 83 

83 but not 37 
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Both 37 and 83 

Neither 37 nor 83 

Consider the following statements: 

a +b+c+d= 200. 

log10 50 is a rational number. 

Which of the statements given above is/are correct? 

1 only 

2 only 

(-)'-A 

log100 10 is an irrational number, 

+4 

Both 1 and 2 

Neither1 nor 2 

3 

4. 

15. 

16. 

(7-B) 

(a) 

17 women and 24 men can do a piece work in 5 days and 12 women and 23 men ca 
do it in 6 days, then which one of the following is correct ? 

(b) 

(c) 

(a) 

(c) 

(d) 

Three taps A, B and C together can fill a tank in 6 hours. Tap C alone can fll the tank in 12 hours. To fill the tank, when it is empty, all the three taps are started together. After workingt houts, tap C is-closed and the tank is filled in 8 more hours. What is t equal to ? 

(c) 

(d) 

Efficiency of 13 women = Efficiency of 
18 men 

6 

Efficiency of 11 women = Efficiency of 
16 men 

Efficiency of 13 women = Efficiency of 
17 men 

4 

Efficiency of 11 women = Efficiency of 
15 men 

A, B and C can complete a work in x, 1-5x and 2x days respectively. If they complete the work together, in what ratio should they be paid ? (a) 

lb6:4:3 
2:3:4 

2 3% 

3:2:1 
4:3:2 

|2 
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